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V_s = 2.00 Ac-Ft

Q_in = 73 cfs 

Q_out = 12 cfs 
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Total 34 openings

Q(tot) = 27.99 cfs

Q = 17.544 cfs
(collected by
opennings)

Q(res)= 10.446 cfs



Q = (34x0.516) cfs
= 17.544 cfs



MANNING'S N = 0.017 SLOPE = 0.029

POINT DIST ELEV POINT DIST ELEV POINT DIST ELEV
1.0 0.0 1.8 4.0 22.0 0.8 7.0 64.7 0.5
2.0 19.4 1.4 5.0 63.2 0.0
3.0 20.0 0.7 6.0 64.0 0.0

WSEL DEPTH FLOW FLOW WETTED FLOW TOPWID TOTAL
INC AREA RATE PER VEL PLUS ENERGY

FT. SQ.FT. (CFS) (FT) (FPS) OBSTRUCTIONS (FT)

0.050 0.050 0.106 0.155 3.424 1.467 3.407 0.083
0.100 0.100 0.341 0.748 6.019 2.195 5.985 0.175
0.150 0.150 0.704 1.976 8.613 2.805 8.562 0.272
0.200 0.200 1.197 4.011 11.208 3.351 11.139 0.375
0.250 0.250 1.818 7.008 13.802 3.854 13.717 0.481
0.300 0.300 2.569 11.111 16.397 4.326 16.294 0.591
0.350 0.350 3.448 16.455 18.991 4.773 18.872 0.704
0.400 0.400 4.456 23.167 21.586 5.199 21.449 0.820
0.450 0.450 5.593 31.369 24.180 5.609 24.026 0.939
0.500 0.500 6.858 41.177 26.775 6.004 26.604 1.061

Q = 27.99 - 17.544
= 10.446 cfs

y = 0.29 ft0.250 0.250 1.818 7.008 13.802 3.854 13.717 0.481
0.300 0.300 2.569 11.111 16.397 4.326 16.294 0.591
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In our application, y2 and y are the same and p1=0 since our weir starts at the bottom of the "channel".
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